Precal Matters WS 7.1: Polar Coords
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Worksheet 7.1—Polar Coordinates

Show all work on a separate sheet of paper. Calculator permitted, show all set ups.

Multiple Choice

1. If » # 0, which of the following polar coordinate pairs represents the same point as the point with polar
coordinates (r,0)?

(A) (—r,@) (B) (—r,9+27z) ©) (—r,0+37z) (D) (r,9+7r) (E) (r,9+37r)

o (19)

(o410
37
g8

(l;owa . i
2. Which of the following are the rectangular coordinates of the point with polar coordinate (—2, —gj ? I N

W (+31) B (-1.-3) @—Lﬁ) O (L-3)  ® (1V3) s

(Xlﬂ) = (rmse/ rsin®) &%)
= (—zws("sr\/—zsf'{';:))
(-2, -2(D)

- (") ‘J—BD

z ﬂ(i 3. Which of the following polar coordinate pairs represent the same point as the point with polar
coordinates (2,1 10°) ?

/
(A) (—2, —70°) (ﬁ) (—2,1 1o°) (}{5 (—2,—250“) % (2,—70") (E) (2, 290°)
Rnp
%o
i \2’.}1;
@ 4. Which of the following polar coordinate pairs does NOT represent the point with rectangular
coordinates (—2,-2)?

/
(A) (2\/5,—13/5°) (B) (2\/5,225") (€) (—2&,—315") (D) (—2\/5,45") %(—2&,135")
5 v e o B
'\ r=zlz 5= 45°
-135°

=22
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Short Answer

For problems 5-8, plot the point that has the given polar coordinates.

4 17 2ok
() e[S 7.0 e

For problems 9-12, plot the point that has the given polar coordinates, then give two other polar coordinate
representations of the point, one with » <0 and the other with » > 0.

9, (3,—%) 10. ( 2%”) 11, (—4}\‘,—%} 12. (1,1)

%

‘ ‘ R —ki-"
(5% (%) (27 (%) (1) (45 Cmoc(iyar )

% (-1, 44 e (),-5-28)

For problems 13-16, find the rectangular coordinates for the point whose polar coordinates are given.

13. (7@ 14 (\/_ —37”) 15. (7.77) 16. ( \/—_5?7:)

(%:s’% Fonk) (iz wia_;ﬁ) Bsind- D) (‘ms%r, FsiFr) (r%[ . —Em{—fg))
(:}(\B; D) (=(-®, ﬁ(’%)) (7’[—(\/ 7 (%)) (ED) «B ;))
3 1) (-3:°) (-%.,%)

For problems 17-20, convert the rectangular coordinates to polar coordinates with » >0 and 0< 6 <27 .

17. (-6.6) 18. (V/8,-8) 19. (V6.42) ya 2. (+3.0) o

r=\zrae EP —& r=lorz
r=\7z =875 r: 2z J <.(5,.)1V>
= 0z =4 o= +lh a (,,- " _;n-

D= hh"(—%) ®=av'(- %_> - "”.“_

p- ZF p= L v

(lﬂﬁ) 3/1‘?) (Lﬂ 1‘5’3 e 1%>
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Precal Matters

For problems 21-24, convert the rectangular equation to polar form

21, y=x 22. y=2x* 23. x=8
F5in® = reese r5in® ——Z(rusa\z ot '—::_
Sng = cos® ~sine = 2% 05D ™= Ze
— SnS _ in® = Psec®
1= z:se— V= Zade
Jane =|

For problems 25-30, convert the polar equation to rectangular form.
T (BONE

25. r=5
X‘4—3"'=-7—5
28. 2 =sin20
X+y* = 25ihe ces&
Xy =2({ (¥
X' &
(xi+f>z= XY

26. 0=—
6

S
-fwr;b = ﬁh A
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24. x?- y2 =1
(rbsa)— (esind) = |
e — o=
("(14,5% —sin8) =
1

2 ———
V= e -sie

27. r=3cosél
r= 3()
T E 3%
Wy =3x

2
X 3% -ra":U
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31. A radar detects two airplanes at the same altitude. Their polar coordinates are (8 miles, 1 10°) and

(5 miles,15°). How far apart are the airplanes? A- & (y,‘j) = <%wsllo" ; Bsin 1o%)

(> = (66612, 5515)

D — (Xz'_%/y’”)' [32—%1)2_ \
= ([(oosis -t + (Bsigl) ~ 55n15") " = ek anSwer

LAJ/D &ﬁ[&[/t/a“h)‘/
9.9

07 (‘
9,299
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